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[> ®HE: 42ha

(AH2Fd ] o))
= 280 x 150 = 42000( m?) = 420a = 4.2ha




® 300a =3m? @ 9km? = 90000 ha
@2030 m? =20.3a @ 43ha = 4300 m?
® T770a ="77ha

~&B

@ 300a = 0.03 km?
@ 9km? = 900 ha

@ 43ha = 430000 m?
® 770a = 7.7ha




2 mol #Hap r

o7} 15

1

Il
— R

—




Sm 2] A7} 72kg 1 AL 93T 4im 9 Afetee] A

2 kg AY7F?

9 9 9

@ 1§kg @ 2§kg @?ﬁ ke

4—k —k
@ 10 g @510 g

3
1 1 ;& 1 13 39 _9
T—+8x4-=—x5x—=—=3—-(k
5 375§ F 10 10 (®)




10. AttE shAL.
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11. o= & 59 25 3A 2] 2271 09 WeAle o2,

D 248 +8=0.31
@42+4=1.05
® 423+3=14.1
@ 126+9=14
® 15.3+6 =255




12. o= WAl FollAf fol 1HEo 2 22 o= AdY71?

® 042+6 @3.12+2 @ 054+5
@ 64+8 ® 48+6
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13, oh& 44 S04 3 T30 Aololl Pk 58 B 124,

D)3.78 @ 3.135 (@)3.56 @ 3.98 ® 3.24

1 7
- =32 = =3
34 35,38 3.875

3.252} 3.875 Ato] Q] A= 3,787} 3.56 YU Tt
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7 28

1% — 1@ =1.28
3 6

D 1g = 1E =1.6
1 25

@ 14_1 — 1ﬁ =1.25

® 1.3
1 5

@ 15 — 1E = 115
2 4

® 13 = 1E =14

5 12—75 of 7V8 7W7he = 1.3 4t




(130 + 160) x 120 + 2 = 17400( m?) = 1.74( ha)




16. 7t=2et AR 2] Aol7} Z+2F 600m, 350m Q1 A &oF
Asytt o] &2 70a 4 Uiro] thE F7o 343 Ao

ok B H kA FRY FAL 4S5 A FokAL.
> = 7

> =D 30714

= 600 x 350 = 210000( m?) = 2100( a)
Z5)= 2100 + 70 = 30(7}A))




g A 2% A A ¢ 0456

0.456 0] — Hil= 0.456= 322 g A Zon=z

Wl

0.456 + 3 4 24.8 = 0.152 + 24.8 = 24.952




18. ThS =FO Ho|7t 544ha G W, [ [eto] dwre £2 o
A2,

n
=

>
[> HEeH 680m

54.4ha = 5440a = 544000 m2 |22,
(BBAAF 9] Wol)= 800 x| | = 544000

[ ]= 544000 = 800 = 680(m)
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V=& AAE)%0.8 = 6 x 0.8 = 4.8(t)
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802 +15 = 22 x b = o0 = 5 (ke)
A-B-= 5% - 51—78
48 35 13
=555 " %95 = 90 ke
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n
=

99 7tR F Zol=1.6 x5 = 8(m)
HAoz AT 4 Q=2 11 -8=2.7(m)

J93 13 Aol9] 248 = = 0.45(m)




24. 7}27}12m °]1, Al27F 19m ¢ AA}z+g moFo] vro] Q)&
H2o] AolE 3m Eo|H, 7l2 o] Zol=H m & 5ojof A2 Holo}
Lot F =] oA 2.

=
[=
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>
> & 225m

B

(A& Hol)=12x 19 = 228 (m? )

(A=e] 40])=19-3=16 (m )°]B=Z

(7}2 2] Zol)= 228 + 16 = 14.25 (m ) ©]ofoF gt

wahA, Sojof & 7F2 9] Aol 14.25-12 = 2.25 (m ) YUt}




25. = A& §olrt 47.3cm? & W, AfrhE]E o] W O] Zol=
of @ cm A HFE RSt 45 EA Z}W/}Zl LB Al 2. (]
0.666--- — °F 0.67)

_-6.4cm. o

» E: cm

[> & 9F8.62cm

B

(AR EE] Hol)= {(oFHH)+ () Ix(FE°])+2
47.3 = {(°F3H)+6.4} x 6.3 + 2
47.3 = {(°F3H)+6.4} x 3.15
{(oF2H)+6.4) = 47.3 + 3.15
(o}=hH) = 47.3+3.15-6.4
= 8.6158---

whabA] obl Wle] ol oF 862 cm AU




